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UNIT TEST1 2020-21 STD IX SCIENCE ENGLISH MEDIUM

TOTAL MARKS 25 TIME 45 MINUTES

INSTRUCTIONS : 1 This question paper contains four sections
2 Internal options may carefully be noted

3 Figures to the right side indicate full marks.

SECTION A
. Answer following questions as per directions. ( 6 Marks)
(Each question carries 1 mark)
1 Observe the following calculation for converting 25° C temperature to kelvin.
K="C +273
K=23+273

K=298 , based on this calculation ,convert 398 K to celcius.
Select the correct option from below:
(A) 671 (B) 125 (C) 423 (D)373
2 State the S| unit of mass.
3 The mass per unit volume of a substance is called its density.
Arrange the following in order of increasing density.
Air, exhaust from chimneys ,honey, water.
4 What is the full form of DNA?
5 State whether the given statement is true or false, and
rewrite it if it is false.
“The Golgi apparatus is called as the ‘suicide bag’ of a cell.
6 Indentify me :
| am the outermost layer of the plant cell.



SECTION B

° Answer following as directed(Each question carries 2 marks ) (6 Mark)

7  State which of the figures given below shows solid form and and gaseous
form. Also write one of the features of each form.

(A) (B) (€)

8 Give scientific explanation :
‘Mitochondria’ is called the power house of a Cell.
9 Write the type of cell division shown in the figure and also state in
which cells it is found.
SECTION C

. Answer the following questions as instructed
(Each question contains 3 marks ). (9Marks)
10 State any three charecteristics of substance in a liquid state.
11 Draw a labelled diagram of plant cell.

12 Study the table given below which describes the difference between
prokaryotic and eukuryotic cells , and fill in the blanksin the table.

Prokurytic cell Eukuryticell
1 size: generally small (1 -10 pum) 1 size: generally large (5 -100 um)
2 Nuclear region:......cccoevvvvennens 2 Nuclear region:well defined and
surrounded by a nuclear membrane.

3 Chromosome: Sngle 3 Chromosome:.......ccceveveeerecnvennns
4 Membrane-bound cell organelles 4
absent.

SECTION D

13 Explain the four factors affecting evaporation. (4 Marks)
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Total Marks 25 Time : 45 MINUTES

There are 13 questions in this paper. They are to be solved in your unit test notebook.
e Do as directed. (5 marks)
e Answer the following by selecting the most appropriate answer from the options given.
(1 mark each)

Q. 1 If G.C.F ( 25,15) = 4x+1 then X = .coeeeeeeeeennnnd |
3 5 3
© : (8)2 © 1 (D)2
Q.2 L.C.M. of the given two numbers is double the greater number. And the difference

between smaller number and G.C.F. is 4. Therefore the smaller number is ............
(A) 8 (B) 6 (C) 12 (D) 16

e State whether the following statements are true or false If it is false then rewrite it after correction . (1
mark each)

Q.3 J.E. Kerrich from Britain scored 5067 heads in 10,000 tosses of a coin. The experimental
probability of getting a head, in this case was 0.5067
Q.4 Experiment : A baby is born.

Result : Is a boy or girl.
Then the experiment does not have equally likely outcomes.

e Match the coloumns.
Q.5 Section — A Section — B
5. The Probability of certain event a. 1.5
6. The Probability of an impossible event b. 0.5

c. O
d. 1
e Solve the following . (Each question carries 2 marks) (10 Marks)

Q. 6 It is given that in a group of 3 students, the probability that the 2 students have the
same birthday is 0.008. What is the probability that the students not having the same
birthday ?

Q.7 Use Euclid’s division algorithm to find H.C.F. of 135 and 225.



Five cards — the ten, Jack, queen, king and ace of diamonds are well shuffled with their
face downwards — one card is then picked up at random.
(i) What is the probability that the card is the queen.

(i) If the queen is drawn and put aside, what is the probability, that the second card
picked up is an ace.

Q.9 Prove that 3 + 2 \/7 us an irrational.
OR
Prove that /5 is an irrational.
Q. 10 A dice is thrown once. Find the probability of getting.
(c) A prime number (b) a number lying between 2 and 6.
Solve the following. (Each question carries 3 marks) (6 Marks)
Q. 11 Convert rational number 1.325 in s form.
Q. 12 A box contains 90 discs which are numbered from 1 to 90. If one disc is drawn at
random from the box. Find the probability that it bears.
(iii) A two digit number (ii) A perfect square number (iii) A number divisible by 5.
OR
Two dices, one blue and one grey are thrown at the same time. Write down all the
possible out comes . What is the probability that the sum of the two numbers appearing on
the top of the dice is
(i) 8 (i) lessthanorequalto12 ?
Solve the following . (4 Mmarks)
Q. 13 Explain why 7 x 11 x 13 + 13 and

7 x6 x5x4x3x2x1+5 arecomposite numbers ?
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STD X FIRST UNIT TEST-1  2020-21 SUBJECT : 10-SOCIAL SCIENCE ENGLISH MEDIUM

TOTAL MARKS 25 TIME 45 MINUTES

INSTRUCTIONS ; WRITE ANSWERS IN YOUR UNIT TEST NOTEBOOK
THERE ARE 4 SECTIONS AND 13 QUESTIONS IN THIS PAPER .

SECTION A
e Do as directed. (5 Marks)

Q1 Choose the correct option to reply following:
How does USA develop its economy?
(A) By Advertising (B) By Marketing (C) By waging war.
Q2 State whether following sentence is true or false, correct it if it is
false.
“India is a developed country”
e Fill in the blank by selecting correct option from the

bracket.
Q3 People of India are--------- lover since ancient time
.(land, environment, technology)
Q4 Land is example of resources.

e Indentify me with the help of clue.

Q5 My only habitat in the world is Gir forest of Gujarat.
SECTION B
Answer following questions in short
( Each question carries 2 marks) ( 10 Marks)
Q6 Provide short information about the creators of Indus valley
civilization

OR Write two sentences about any of the two fairs given below.
(1) Bhavnath (2) Modhera (3) Vautha (4) Tarnetar

Q7 Write the measures to prevent soil erosion
Q.8 Define : resources
Q9 Explain the difference between Economic progress and Economic

development
Q10 What are the limitations of Market mechanism system



SECTION C
Answer following questions briefly ( Each question carries 2 marks)
Q11  Write about Cultural heritage
OR
Explain our Constitutional duties for preservation and
conservation of Heritage.
Q12  Write the different Methods of soil conservation

SECTION D
Answer following question in detail

Q13 Discuss cultural heritage of India based on the expression
“Unity in diversity “ .
OR
Discuss the distribution of resources in mixed economy.

(06 Marks)

(04 Marks)
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